
Math 1215 -             Homework 1         Name: 

 

 

1. Evaluate    𝟓 − 𝟑 (−𝟕 − (−𝟒 + 𝟏))
𝟐

 

 

 

 

 

 

𝟐 .
 𝐲𝟐±√𝐱+𝟕

𝟐𝒚
    𝒘𝒉𝒆𝒏 x = 9 and y = 3                         

 

 

3.List the elements of the set {x | x is a natural number between 7 and 14}. 

 

 

  

 

4. Evaluate:      - |-7| 

 

 

 

5.Graph the real numbers less than 4 

  

 

  -6  -5 -4 -3 -2  -1  0  1   2 3 4  5  6 

 



 

 

 

6. Write the Inequality for a given solution 

 

 

     -6 -5 -4 -3 -2 -1  0  1   2   3  4  5  6 

 

 

 

 

7. Simplify each. Leave your answer as an improper fraction. 

       a)    

             

       b) 
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